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ECONOMICS
[GENERAL]
Paper : 1
Full Marks : 100 Time : 3 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

Answer all the questions.

1. Answer any six questions: 1x6=6
@I =B evew Ted e ¢
a)  What is savings?
AR e

b)  What will be the shape of a demand curve
when price elasticity of demand is equal to

zero?
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c¢)  When the consumer judges quality of a good
by its price then the effect on quantity
demanded is known by which effect?
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d)

g)

h)

95(A)/1

What value does cross price elasticity take

in case of mutually complementary goods?
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In which direction the budget line would move
when income of the consumer decreases at

constant prices?
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What type of relation is found between total
revenue and total cost when abnormal profit

1s earned?
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What is the sum of marginal propensity to

consume and marginal propensity to save?
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Does government collected taxes inject into

or withdraw from income flow?
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1)  Why 'transfer income' is not included in
national income?
TRIET ST CF (o GO I ST 4] 2
DIk

j)  What type of relation is found between real
consumption expenditure and real national
income?
4Fe (SR ¢ eFe TR SIEF W& F
GRETR TF AT ?

2. Answer any eleven questions: 2x11=22

@~ @hieaifs aeis Tex wie ¢

a)

b)

d)
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What is the relation between GNP and NNP?
GNP € NNP-93 (g 7>< {52
Write down the law of demand and explain it.

vifenE Tafe @7 @R [ F9|

Write down the formulae of arc and point
elasticity of demand.
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How far 'market' in economic sense is

different from 'market' in common usage?
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g)

h)

1)

k)

D)
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Define 'Consumer's surplus' with suitable
example.

Toge TrizaerTe ((Fel g Wwife 74|
What is the relation between 'individual

demand curve' and 'market demand curve'?

fen vifrl @ ¢ rerEs s @ars
TGS 2

Define production and production function.
TeoAWe ¢ BLAM SR ALER] W€ |
Define opportunity cost with suitable

example.

THyE SUIRAPTR R JEE IR 7)€ |
State the law of variable proportion.
SAfFea weeite et Rge F91

What is to be added with total disposable

income to get the national income?

™G TAE NEF AT T @ I T
R ANST 2

Define consumption and consumption

function.
COl9l R (219 AR AR WS |
Define investment and investment function.
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m) What is money? Give some examples of

different forms of money.
=g 5 2 fifen «@a wea FEsh Szl i |

What is a commercial bank? Write the name
of a commercial bank of India.

ifafers s 5 2 e g3 lfdfers wizs
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What is a central bank? Write the name of
the central bank of India.
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3. Answer any seven questions: 6x7=42
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a)

b)

d)
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Explain "Water-diamond paradox'.
- wiete [’ iy w0

Explain the two concepts— 'Compensating
variation in income' and 'Equivalent variation
in income for the fall in price' with the aid

of diagrams.

5@ <t W I HosiFe AW o ARFTET
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Write a note on different forms of money.
e f[fen moefe T=i1E 97 Sl @19 |

Discuss the relation between speculative

demand for money and the interest rate.
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g)

h)

i)

95(A)/1
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State how equilibrium is obtained through
savings-investment equality.

AR ¢ R e M [Foi el
ST O A Il 4 |

Discuss in brief about autonomous
investment and induced investment.

Fage e ¢ Sge R[fawme Kaw Jferd
IO <4 |

Write a note on marginal efficiency of
capital.

TR A wwe! T @6 Tl @1 |
What is consumer's surplus? Explain with
diagrams.

(Foid Tge 2 ez I 34

What is market? How market demand is
obtained? Discuss.

e e e sifRa e ote Ty
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Elucidate the two concepts— Opportunity

costs and real costs.
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4.  Answer any three questions: 10x3=30

- foals 2o Teg wie ¢

a)

b)

d)
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Define an indfference curve and an
indifference map. What are the
characteristics of an indifference curve?
GG 0o @ @3k @S s Mg
ke e | W @R [ S
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Explain the simple Keynesian Income

Determination Model.
T (AR SR WA Twes ) A |

Elucidate the concepts of 'Marginal Product',
'Marginal Revenue Product' and 'Value of
Marginal Product'.

‘eifgs TeAm’, ‘Afes SR Besiue’ g8
‘eifes Tesive o el ARrgs 4|
'Commercial Banks create money' — Explain.

Affers mafs sl 3% @ — TR0 F91
What type of change is noticed in the budget

line when price of one commodity increases?
What type of change is occurred in the
optimal purchase of the consumer due to this
change?
G0 TERIF W @S (Ol AEs @
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How an investment multiplier works when
autonomous investment is increased in a
country?
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